OT60p B YHuesepcuter MuHononuc 2023
WNunononuc, BecHa 2023

3apavya A. Hangn koTa

Vwms BxomHOrO (haiina: CTaHIAPTHHN BBOJ
Nwmst BeixosHOTO haiira; CTaHIAPTHHE BHBOZ,
Orpanudenne 10 BPEMeHHU: 1 cexynma
Orpanudenne 10 MAMSTH: 256 merabaii

Mairia MHOTO YUTAET, U, KOIJ[a OHA BUIUT KAKOe-TO JJIMHHOE CJIOBO, OHA JIIOOUT UTPATH B UTPY «HANIN
KoTay. i Toro, 4TobObl HAliTH KOTa B CJI0BE, HyKHO HaiiTu B HeM OykBbI K, 0 u T B IpaBUILHOM IOPSIIKE.
Hanpumep, kota MoxkHO HaiiTu B cyioBe «KOMnboTep» mim «6m0KHOT».

Ceituac Marma yauT aHNIHACKEA SI3BIK, TO3TOMY OHA XOUYeT HAyIUThCs UCKATH KOTOB U B aHTVIMCKUAX
cioBax. [ljist Toro, 9ToObI HAWTH KOTa B aHIVIMHCKOM CJIOBe, HYKHO Haiitm B HeM OykBbl C, A u T B
IpaBmJIbHOM Topsizike. To ecth, C mosmkHa uaTu meperd A, a A — nepen T. Hampumep, «ClAssmaTe» mim
«sCrATch». ITomorure eii.

dopmaTt BXOAHbIX AAHHbIX

B eMHCTBEHHON CTPOKe JlaHA CTPOKA $ M3 CTPOYHBIX JIATHHCKUX OYKB — CJIOBO, B KOTOPOM HY?KHO
Hajitn kora (3 < |s| < 100000). TapanTupyercs, 9ro B 3TOM CJIOBE MOYKHO HAlTH HYKHbIe OyKBbI B
TpeGyeMOM MOPSIJIKE.
dopmaT BbIXOAHLIX AAaHHbIX

BriBenure Ty 2Ke cTpOKy, HO ¢ 3aryiaBHbIMU OykBamu C, A u T, COOTBETCTBYIOIIMMU HAMIEHHOMY KOTY.
) ) )
lapanTupyercst, 970 OTBET CyIecTByeT. Eciin ecTh HECKOJBKO CIIOCOO0B HANTH KOTa, BBIBEIUTE JIIOOOI.

CucTtema oueHKkn

ITonzamaya | Bajuibr JlomoTHUTEIbHBIE OrPAHTIEHUST

1 10 |s| =3

2 30 |s| <50

3 60 DBe3 momomHNTEIbHBIX OTpAHUIeHN

lMNpumepsbl
CTaHIAPTHHA BBOZ, CTaHIAPTHHA BHBOZ

classmate ClAssmaTe
scratch sCrATch
catcatcat CatcAtcaT

CrpaHuua 1 us 3



Selection to the Innopolis University
Innopolis, Spring 2023

Problem A. Find a cat

Input file: standard input
Output file: standard output
Time limit: 1 second

Memory limit: 256 megabytes

Masha reads a lot. And when she sees a long word, she likes to play the game “Find a cat”. In order to
find a cat in a word, you should find there letters C, A, and T in that order. For example, you can find cat
in the word “ClAssmaTe” or in the word “sCrATch”.

Help Masha to find a cat.

Input

The single line contains string s consisting of lowercase English letters — the word where you should find
a cat (3 <|s| <100000). It’s guaranteed that finding the needed letters in order is possible.

Output

Output the same string, but with uppercase letters C, A, and T corresponding to the cat. It’s guaranteed
that an answer exists. If there are several answers, you can output any of them.

Scoring
Subtask | Score Additional constraints
1 10 |S| =3
2 30 |s| <50
3 60 No additional constraints
Examples
standard input standard output
classmate ClAssmaTe
scratch sCrATch
catcatcat CatcAtcaT
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OT60p B YHuesepcuter MuHononuc 2023

WNunononuc, BecHa 2023

3apgaya B. MakcumanbHas meaunaHa

Vwms BxomHOrO (haiina:
Wmst BBIXOIHOTO paiiia:
OFpaHI/IquI/Ie II0 BpEeMEHN:

CTaHIapTHHIE BBOZ,
CTaHIAPTHHE BHBOZ,
1 cexyrna

Orpanudenne 10 MAMSTH: 256 merabaii

IIycts y Bac ecth HAOOP u3 k 4unce, npudeM k — HedeTHoe. Meauanoii 3Toro Habopa Ha3bIBAETCs TAKOE
9HCJIO, KOTOPOE OYIEeT CTOSATh B CEpenHe, eCc/in Habop OTCOPTUpPOBaTh. Hampumep, Meauana Ijist Habopa
qucen (4,2,7,2,1) 6yuer paBHa 2, IOTOMY 9TO, €CJIH TOT HAOOP OTCOPTUPOBATH, HostyunTes (1,2,2,4,7),
1 Ha cpefHeM MecTe OyeT cTosTh ducyo 2. O6parnTte BHUMAaHNE, ITO B HaITell 3a/ate Iucao k HeIeTHOe,
[I03TOMY B Habope U3 k 3JIeMEHTOB OJIHO M3 HUX BCErja Oy/IeT POBHO IOCEPEINHE.

Y Tauu ecrb MaccuB U3 n 4yuces U Hedernoe uucio k. OHa BeIOMpaeT Kakue-To k 4ucesl U3 MaccuBa,
U HAXOIUT X MeamaHy. Hailtu MakcuMasibHOE 3HAYEHUE, KOTOPOE OHA MOXKET TOJIYUUTh.

dopmaTt BXOAHbIX AAHHbIX

[Tepsasi crpoka comepxkut asa unciaa n u k (1 < n < 100000, 1 < k < n, k — neuernoe). Bropast
CTPOKa COIIEPKHUT N HHces a; — dmeMenTs Maccnba (1 < a; < 107).

®dopmaT BbIXOAHbIX AAHHbIX

BbIBe,ZLI/ITe O/THO YHCJIO — MaKCHMaJIbHOE€ 3HAYCHNE MEINaHbl, KOTOPOE€ MOXKET IIOJIYIUThb Tans.

Cucrtema oueHkn

ITonzamaga | bamisr JlonmomHUTEIbHBIE OrPAaHUTIEHUS
1 10 n <1000, k=1
2 20 n <1000, k=3
3 30 n < 1000
4 40 Be3 momomHuTEIbHBIX OTpAHUYEHUH
MNpumepsl
CTaHIAPTHHHE BBOZ CTaHOApPTHHE BHBOZ,
10 5 7
8172421753
53 1
11111
11 100
100
3ameuvaHue

B nepsom npumepe Tanst Mmoxer, nanpumep, Beibparsh unciaa (8,1,7,2,7), ux meauanoit 6yaer 7.
Bo BTOopomMm mpumepe Bce dunciia oMHAKOBBIE, MOYKHO BBIOPATH JIIOOBIE TPH.
B tperbem npumepe mesuana nabopa U3 OJIHOTO YHCJIA PABHA 3TOMY YHCILY.

CrpaHuua 2 us 3
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Problem B. The maximum median

Input file: standard input
Output file: standard output
Time limit: 1 second

Memory limit: 256 megabytes

Consider a list of k£ numbers, and k is odd. Median of this list is a number that would be in the middle
of the list if we sort it. For example, the median of (4,2,7,2,1) is 2. Cause if we sort this list, we would
get (1,2,2,4,7). And the middle of the sorted list is 2. Note that we consider only odd k, so the middle

) )y =)

of a sorted list is always a single number.

Tanya has an array of n numbers and an odd number k. She will choose some k£ numbers out of the array
and will calculate their median. What is the maximum value she could get?

Input

The first line contains two integer numbers n and k& (1 <n < 100000, 1 < k < n, k is odd). The second
line contains n integer numbers a; — the array (1 < a; < 109).

Output
Output a single number — the maximum value of the median that Tanya could get.
Scoring
Subtask | Score Additional constraints
1 10 n <1000, k=1
2 20 n <1000, k=3
3 30 n <1000
4 40 No additional constraints
Examples
standard input standard output
10 5 7
8172421753
53 1
11111
11 100
100
Note

In the first example, Tanya can choose numbers (8,1,7,2,7). And their median is 7.
In the second example, all numbers are the same, Tanya can choose any three.

In the third example, the median of the array of a single number equals to this number.
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WNunononuc, BecHa 2023

3apada C. OOroHbl

Nwmst Bxosuoro daita:

CTaHIApTHHN BBOZ,

WNmsa Beixoanoro daiiia: CTAHIApPTHHI BHBOZ,
Orpanundenne 10 BpeMEHU: 1 cexynna
OrpaHnudenue 1o IaMsITH: 256 merabaiiT

B rorkax y4acTByIOT 1 MaIlIMH YepHOTO Wik 6ejioro 1seta. [leTs 3HaeT, B KAKOM IOPsI/IKE CTAPTOBAJIN
MAIINHBI, & TAKYKe OH 3HAET, YTO BO BPEMsl FTOHKH ITPOM3OIILIO 1M OOrOHOB (B pe3y/bTraTe KayKaoro o0roHa
MEHsIeTCsl TOPSIJIOK JIBYX COCEJHUX MalluH). [lere cTaso MHTEepeCHO, KAKOe MAKCUMAJIBLHOE YUCJIO0 Y€PHBIX
MalllMH MOIJIO (DUHUIIIPOBATH MOAPSI APYT 3a ApyroM? IloMorure eMy y3HATH 9TO UUCIIO.

®opmaTt BXOAHbIX AAHHbIX

[TepBasi cTpOKa COJEPXKUT YHUCIA N W M — 9YHUCIO MamuH u uucyio obrouo (2 < n < 100000,
0 < m < 10'%). Bropas cTpoka CONEp:KHT CTPOKY M3 7 CHMBOJIOB — IIBETa MAIIHH, B TOM IOPSJIKE,

B KoTOpoM oHH craproBaju. CuMBoJ W obo3naqaeT Oesblil BET, a CUMBOJI B — 1UepHBIil.

dopmaT BbIXOAHbIX AAHHbIX

BbIBe,ZLI/ITe OJHO YHCJIO — MaKCHUMaJIbHOE YHCJIO Y€PHbIX MalllMH, KOTOPOE€ MOIJIO (1)I/IHI/IH_[I/IpOBaTb 1101~

psJl IPYT 38 JPYTOM.
CucTtema oueHKkn

ITogzanaua | Bajuisr JlomomHUTEIbHBIE OrPAHNIEHUST

1 10 m=0

2 20 n < 20, m < 400

3 20 n < 50, m < 2500

4 20 n < 1000, m < 10°

5 30 Bes nomnoHuTeIbHBIX OrpaHnIeHNii

MNMpumepsbl
CTAHZapTHLHE BBOL, CTAHZAPTHHE BHBOZ

10 4 3
WBWWBWBWWB
33 0
WWW
5 10 3
BWBWB
6 3 1
BWWWWB

CrpaHuua 3 us 3
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Problem C. Overtaking

Input file: standard input
Output file: standard output
Time limit: 1 second
Memory limit: 256 megabytes

n cars participate in the racing. Each car has either black or white color. Petya knows the order of cars
at the start. And he knows that there were m moments when one car overtook another one. As a result,
two consecutive cars were swapped in the order. Petya is interested in what the maximum number of
consecutive black cars could be at the finish. Help him.

Input

The first line contains two integer numbers n and m — the number of cars and moments of overtaking
(2 <n<100000,0 <m < 1010). The second line contains a string of n characters — colors of the cars
at the start. Character W denotes white color, and character B denotes black color.

Output
Output single number — the maximum number of consecutive black cars at the finish.
Scoring
Subtask | Score Additional constraints
1 10 m=10
2 20 n < 20, m <400
3 20 n < 50, m < 2500
4 20 n < 1000, m < 10°
) 30 No additional constraints
Examples
standard input standard output
10 4 3
WBWWBWBWWB
33 0
WWW
5 10 3
BWBWB
6 3 1
BWWWWB
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